CHAPTER 5 REVIEW ANSWERS!
Write each ratio 3 ways:







1.  182 students for every 10 teachers
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182 to 10  
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2.   22 of 57 students went skiing






22:57   22 to 57
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Simplify each ratio (rewrite like a fraction---then simplify)

3.     4:8




4.   20 to 5



1:2





4 to 1
5.    16 to 52




6. 81:3









4 to 13



27:1







Find the Unit Rate for each situation (put into fraction form, and then get then denominator to 1)

7.  Travel 360 miles in 6 hours



          60 mi / hr
8. $45 for 9 magazines




            $5/magazine
Which form a proportion, write yes or no  (cross product)

9.     
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YES
Solve for the value of n in each proportion

11.      
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12.    
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       n = 18








n = 15
 














In order for two figures to be similar they need to meet to properties.  What are they?

13.  The corresponding angles are equal
14. The ratios of the length of corresponding sides are equal
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These two figures ARE similar find the missing measure lengths. USE A PROPORTION
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15. Find the value of  x



Indirect Measurement – DRAW a picture and set up a proportion for full credit!!!
16  Augie’s Ole the Viking is 11 ft tall and cast a shadow of 20 ft.  How tall is Mr. Skibsted’s helmet if it casts a shadow of 3 ft?

Find the map measure (scale length) of these distances

A map has a scale of 1in. : 20 mi
17.  100 mi
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18. 700 mi
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                          X=5 in                           x = 35in
Find the actual distance of these scale lengths
A map has a scale of 1in. : 20 mi
19.  9 in






20.   4.5 in
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21.  The price of a BV Lynx T-shirt was $15.  The shirt now cost $20.  Find the percent of increase in the price of the T-shirt.


DON’T DO!!!
22.  Which is the better buy, a 32 oz. jug of Tide detergent for $5.99, or a 48 oz. jug of detergent for $7.99?  Set up 2 separate proportions and find the unit rate for each to compare.
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       48 oz. detergent for $7.99 is the better buy
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